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Provincial Department of Education - NWP

m<uq jdr mÍlaIKh - 10 fY%aKsh - 2020

First  Term Test - Grade  10  - 2020
  .Ks;h - ms<s;=re m;%h

I m;%h

1

Answer

(1) 3.5 ----------------------------------------------- 2

(2) x2 - 3x - 10 --------------------------------------------- 2
x2 + 2x - 5x - 10 ------------------------------- 1

(3) { 3,  7,  8 } --------------------------------------------- 2

(4) 1100 ----------------------------------------------- 2
 m%;suqL fldaKh 700 g ----------------------- 1

(5) 13 ----------------------------------------------- 2

(6) 25% ----------------------------------------------- 2
100ka --------------------------------------- 1

(7)  650 ----------------------------------------------- 2
900 - 250 ------------------------------------------- 1

(8) 28cm ----------------------------------------------- 2

1 22
2 44

4 7
r    ------------------------------- 1

(9) 1/X2
-----------------------------------------------------------------------2

X-2 ------------------------------------------- 1
(10) (x - 6)(x + 1) ------------------------------------------ 2

x2 - 6x + x - 6 ------------------------------------- 1

(11) 10cm ----------------------------------------------- 2
BC 7 = 14 5

fyda

14 5

7


------------------------------------------- 1

(12) 6x2y2 ----------------------------------------------- 2

(13) 700 -------------------------------------------2

ACB = x


 fyda  2x  = 1400
------------------------------------1

(14) 5cm ----------------------------------------------- 2
1

6 AD 15
2
   --------------------------------------- 1

A fldgi (15) 400 ----------------------------------------------- 2
3x = 1200 ------------------------------------------- 1

(16)
3

7

x
----------------------------------------------- 2

5 2

7

x 
------------------------------------------- 1

(17) md' flda' md' ---------------------------------------2

(18) Èk 4 ----------------------------------------------- 2

8 6

12


------------------------------------------- 1

(19) (i) 100cm2
----------------------------------------------------------------------------2

1
40 5

2
  ------------------------------------ 1

(20) 600 ----------------------------------------------- 2

0BAC 50


 --------------------------------------- 1

(21) x = 5 ----------------------------------------------- 2
7 - 2x + 4 = 1 -------------------------------------- 1

(22)

(23)
13

100
----------------------------------------------- 2

(24) (i) 800 ------------------------------------------- 1
(ii) 700 ------------------------------------------- 1 - 2

(25) (i) 2 ------------------------------------------- 1
(ii) 3 ------------------------------------------- 1 - 2

10 fY%aKsh - .Ks;h - jhU m<d;
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5100%

P Q

12m

12m
2



2

B fldgi

(1) (i)
5

6
------------------------------------------- 1

5 3

6 5
 ----------------------------------------- 1

1

2
------------------------------------------- 1 - 3

(ii)
1 1

  
6 2
 ----------------------------------------- 1

2

3
------------------------------------------- 1

1

3
------------------------------------------- 1 - 3

(iii) 1800 ml -----------------------------------------2

1
600

3
 --------------------------------------- 1

(iv)
1

1800
6

 ---------------------------------- 1

300 ml -------------------------------------- 1 - 2
--------------------------------------------   10

(2) (i)
22 1

2 35
7 4

   --------------------------- 1

55cm ------------------------------------------ 1 - 2

(ii) 13 cm --------------------------------------------- 2
5cm ±lSu 52 + 122

-------------------------------------------- 1

(iii) 40 + 35 + 12 + 13 + 55 -------------------- 1
155 cm ---------------------------------------- 1 - 2

(iv) 240 35 1400cm  -------------------------- 1

22 1
35 35

7 4
   ---------------------------- 1

962.5 cm2

21
12 5 30

2
cm   -------------------------- 1

467.5cm2
-----------------------------------------------------------------1 - 4

--------------------------------------------- 10

(3) (i) 360 - (117 + 90 + 45) ---------------------- 1

540  (
108

2
ka) --------------------------------- 1 - 2

(ii)
360 5

45


--------------------------------------- 1

40 ------------------------------------------- 1 - 2

(iii)
40 117

360


 fyda 

117

9
--------------------- 1

13 ------------------------------------ 1 - 2

(iv)
40

10
4
 ----------------------------------- 1

10 + 10 = 20 --------------------------------- 1

360 20

45


------------------------------------- 1

1600 ------------------------------------------- 1 - 4
--------------------------------------------- 10

(4) (i) 508 ------------------------------------------ 1
Èk 400 ---------------------------------------- 1 - 2

(ii)
10000

400
----------------------------------- 1

25 l ------------------------------------- 1 -2
(iii) 10000 - 50 3 25 ------------------------ 1

6250 l --------------------------------------- 1 - 2
(iv) 6250 - 250 = 6000 -------------------------- 1

6000

40 25
--------------------------------------- 1

Èk 6 ------------------------------------------ 1
6 + 3 = Èk 9 --------------------------------- 1 - 4

--------------------------------------------- 10

(5) (i) ksjerÈ fmfoia 4 g -------------------------4

(ii) ksjerÈ ms<s;=rg --------------------------------- 2

(iii)  X Y  ----------------------------------------- 2

(iv) ksjerÈ Wml=,l follg -------------------2
--------------------------------------------- 10

Answer
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II m;%h
A fldgi

(1) (i) re' 9 000-------------------------------------- 1
re' 159 000 ----------------------------------- 1

120 000 90

100


--------------------------------- 1

re' 108 000 ----------------------------------- 1
re' 73 600 ------------------------------------ 1
108 000 + 73 600 --------------------------- 1
re' 181 600----------------------------------- 1
 181 600 - 159 000 ------------------------- 1
re' 22 600 ------------------------------------ 1
22 600 > 22 000 ----------------------------- 1

--------------------------------------------- 10

(2) (i) 3, -1 ------------------------------------------- 1
------------------------------------------- 1 - 2

(ii) ksjerÈ wlaI moaO;shg ----------------- 1
,CIH ,l=Kq lsÍu ----------------------- 1
m%ia;drh we£u --------------------------- 1 - 3

(iii) 2 ----------------------------------------------- 1
(iv) m%ia;dr u; ,CIH follaj;a ,l=Kq

lr y = x we£ug ------------------------ 3
(1, 1) ------------------------------------------ 1 - 4

--------------------------------------------- 10

(3) (i) (x + 5)2 - (x + 1)(x - 3)--------------------- 2
x2 + 10x + 25 - (x2 - 2x -3) --------------- 2
12x + 28 -------------------------------------- 1 - 5

(ii) 12 x + 28 = 88 ------------------------------- 1
         12x = 60 ------------------------------ 1
             x = 5m
            10 m--------------------------------- 1
            100 m2

---------------------------------------------------- 2 - 5
--------------------------------------------- 10

(4) (a) 2x = 6 ----------------------------------------- 1

x = 3 ------------------------------------------- 1
wdfoaYhg --------------------------------- 1

 y = 5 ------------------------------------------ 1 - 4

(b) (i) 2x2 - 4x + 3x - 6 ---------------------- 1
2x(x -2) + 3(x - 2) -------------------- 1
(x - 2)(2x + 3) ------------------------- 1 - 3

(ii) 5(16 - x) -------------------------------- 1
5(42 -x2) -------------------------------- 1
5(4 - x)(4 + x) ------------------------- 1 - 3
--------------------------------------------- 10

(5) (i) 9 ----------------------------------------------- 1
(ii) 6 ----------------------------------------------- 1
(iii) 5 ----------------------------------------------- 1
(iv) 12, 40, 90, 77, 64, 45------------------------ 1

328 ------------------------------------------- 1
328/50 ----------------------------------------- 1
6.56 fyda 6.5 --------------------------------- 1
   7 ------------------------------------------- 1 - 5

(v)
7

10
2
 ----------------------------------------- 1

35 ------------------------------------------- 1 - 2
--------------------------------------------- 10

(6) (i) ñkqï olajd we;s o< rEmhg --------------- 2

(ii) È.xYh" mßudkh B g ------------------ 2

È.xYh" mßudKh C g ------------------ 2

  D g ------------------------------------- 1 - 5

(iii) 0 0312 2 ---------------------------------------- 1

(iv) 5cm  0.1cm -------------------------------- 1
100m   2m ---------------------------------- 1 - 2

--------------------------------------------   10

B fldgi

(7) (i) 3 11 1  ----------------------------------- 1
34 ---------------------------------------- 1 - 2

(ii) 6n - 5 = 55 ----------------------------------- 1
n = 60/6 --------------------------------------- 1
n = 10 ----------------------------------------- 1 - 3

(iii) 3n + 1 -(6n - 5) ------------------------------ 1
-3n + 6 ---------------------------------------- 1 - 2

(iv) 3, 0 ------------------------------------------- 2
  -3 ------------------------------------------- 1 - 3

--------------------------------------------   10

(8) (i) 30 20 10  ---------------------------------- 1
6 000 ml fyda 6 l -------------------------- 1 - 2

(ii) 240 5 --------------------------------------- 1
1 200 cm3

---------------------------------------------------------------1 - 2

(iii) 4 200 + 1 200 -------------------------------- 1
3

Answer

10 fY%aKsh - .Ks;h - jhU m<d;



5 400 ml ------------------------------------ 1

5 400

30 20
-------------------------------- 1

9cm ------------------------------------- 1 - 4

(iv) 1 000 cm3
--------------------------------------------------------------- 1

10cm ------------------------------------------ 1 - 2
--------------------------------------------   10

(9) (i) PQ we¢ug ----------------------------------1

(ii) ,ïn iuÉfþolhg --------------------- 1

  O g -------------------------------------- 1 - 2

(iii) 600 ks¾udKhg --------------------------- 2

PQR ;s%fldaKhg ------------------------ 1 -3

(iv) fldaK iuÉfþolhg ------------------- 2

M ,l=Kq lsÍug ------------------------- 1 - 3

(v) jD;a;h ks¾udKhg -------------------------1
--------------------------------------------   10

(10) (i) AB = DC (iïuqL mdo& ------------------ 1

BA P = D CQ
 

 ^taldka;r fldaK& ----- 1 - 2

0A PB = CAD 90
 


ABP CDQ    ^flda' flda' md'& ------ 1

         wx.iu ;s%fldaKj, wkqrEm wx. iudk fõ' --- 1
AP = QC ------------------------------------- 1

AP - QP = QC - QP ^m%;HlaI& ------------ 1 - 4
AQ = PC

(ii) msgm;a lr ,ïnl we£u ---------------- 2

1 1
.AB.PX = .DC.QY

2 2
------------------- 1

AB = DC ------------------------------ 1 - 4
PX = QY
--------------------------------------------   10

(11) (i) FCE = BAC
 

 ^wkqrEm fldaK& -------- 1

BCF = A BC
 

 ^taldka;r fldaK& ------ 1

FCE + BCF = BAC + A BC
   

----------- 1 - 3

BCE = ABC + A BC
  

(iii) BAD = DAC 
 

----------------------------- 1

BA D = DFC 
 

------------------------------ 1

DAC = DFC 
 

 ^m%;HlaI& ----------------- 1

AC = CF ------------------------------------- 1 - 4

(iii) 0 A BC = 60


---------------------------------- 1

0ACB = 60


--------------------------------- 1

0BAC = 60


--------------------------------- 1 - 3

--------------------------------------------   10

(12) (i) {2, 4, 6, 8, 10} --------------------------------- 1
(ii) { 5, 6, 7, 8, 9, 10}------------------------------ 1
(iii) S = {1, 2, 3, 4, 5, 6, 7, 8,9 10} --------------- 2

(iv)
5

1 0
------------------------------------- 2

(v)
2

1 0
------------------------------------- 2

(vi)
3

1 0
------------------------------------- 2

----------------------------------- 10

4

Answer
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